Remarks on the Davidon-Fletcher-Powell Method

This is one of the earliest and most effective methods quasi-Newton methods. Its effective-
ness stems from the fact that, for quadratic problems, the method simultaneouly generates
conjugate directions and constructs an approximation of the inverse of the Hessian matrix.

In each step, the inverse of the Hessian is updated by the sum of two symmetric rank 1
matrices. For this reason, it is referred to as a “rank 2”7 correction procedure. It is also
called a “variable metric method”.

The Davidon-Fletcher-Powell Method can be described as follows:
(0) Initial Step:

Select a positive definite matrix S, and an initial estimate x, of *. Set
k=0

(1) Iterative Step:

(a) Compute g, = Vf(xx).
(

)
b) Compute dj, = —Sj, gy
(c) Compute oy = argmin f(x, + ady).
)

(d) Set ®py1 = Tk + apdy.
(2) Update Step:

(a) pr = e di; gp1 = Vf(@pyr).
(b) q. = Giv1 — Gg-

T T
_ PePr  _ Sk, 9 Sk
(€) Sk1 =Sk + (Pr-ar) (@k:Skar)

(3) Replace k by k+ 1; go to 1(a).

Let us check that if the matrix Sy, is positive definite, then so is S,;. From the definition

(x,ppprx) (%, 5:q,q" Spx)
x, Spnx) = (@, Spx) + —
< s > < : > <pk7(Ik> <qk75qu>

<pk7m>2 <33,Squ>2
= (@, Spx) + —
< k) (Py qy) (qr, Skay)

Now, set a = S;/Qw and b = S;/qu, and rewrite:
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{a,b)* (py,x)*

(b, b) (Dr> i)

<a’=a> <b7b> — <a’7b>2 <pk7w>2
(b,b) (Dr> i) '

(®, k1) = (a,a)—

Now

(P> Gr) = (Pr Gisr — 9r) = (Prs Gir1) — (Pis G -
Now 0 = 0f/0ala, = (di, V f(xr + cudy) = (di, g5,1). Hence (p;,g,,1) =0 and so

<P,qk> = —(Pr9gr) = —{(%Gk, g
= —(—SkGr, Gk) = % (Gks SkGy) -

Putting these results together, we have

<a’7 CL> <b7 b> B <a’7 b>2 <CB, pk>2
(b,b) e (Gr SGi)

<'f‘c7 Sk+1w> =

Now, from the Cauchy-Schwarz inequality (a,b)? < |la||*||b||>. Thus the first term ont

the right is non-negative and the second is as well. Can they be zero simultaneously? We
get equality in the Cauchy-Schwarz inequality if and only if @ = S b. If S,i/ ‘T = I} S,i/ qu

then « = 3 q,, since S,i/ % is non-singular. Then
(D) = B{Pr: q) = Bow Gy, Skgy) > 0.

Hence, for all @, (@, Sk, 1x) > 0 which was to be proved.



